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’ 100kN/mM%#BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
ZFhst -l -~ - -| #hrist -~ - - - Fhst - -~ - -| Fhiist -~ - - -
9 100kN/mM%BZ % -l -~ - -|3m%iBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Fhst -l -~ - -| #hrist -~ - - - Fhst - -~ - -| Fhiist -~ - - -
3 100kN/mM%BZ 5 -l -~ - -|3m%iBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
ZFhst -l -~ - -| #hrist -~ - - - Fhst - -~ - -| Fhiist -~ - - -
4 100kN/mM%BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Fhst -l -~ - -| #hrist -~ - - - Fhst - -~ - -| Fhiist -~ - - -
5 100kN/mM%BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
zhst 1.00/0.00 ~ 6.26 78.64] ZhLlst 1000 ~ 6.26| 2.14 11.45 Fhst 1.00] 5.00 ~ 9.70 78.64| ¥hLlst | 500 ~ 9.70| 2.14 11.45
6 100kN/mM%#BZ 5 -l -~ - -|3m%iBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Thst 1.00/0.00 ~ 427 53.32| ZhLlst 1000 ~ 4.27| 2.04 10.92 Thst 1.00] 500 ~ 5.20 53.32| #hbList | 500 ~ 520| 2.04 10.92
7 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 6.06 76.03] #hrlst |000 ~ 6.06| 1.84 9.84 Thst 1.00] 500 ~ 7.08 76.03| #hbList | 500 ~ 7.08| 1.84 9.84
8 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 552 68.90| #hrlst |0.00 ~ 552| 201 10.76 Thst 1.00] 500 ~ 7.00 68.90| #h L4t | 5.00 ~ 7.00] 2.01 10.76
9 100kN/mM%#BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 6.93 87.81| #hrls 1000 ~ 0.00| 1.72 9.19 Thst 1.00] 500 ~ 8.60 87.81| #hbLls | 500 ~ 860| 1.72 9.19
10 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 3 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 6.94 87.95| #hLlst 1000 ~ 694 1.73 9.25 Thst 1.00] 500 ~ 8.60 87.95| #hbLls | 500 ~ 860| 1.73 9.25
» 100kN/mM##BZ 5 -l -~ - -|3m%Ei#B2 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E#BZ 3 -~ - - -
Thst 1.00/0.00 ~ 4.96 61.83] hbLlst 1000 ~ 4.96] 1.93 10.35 Thst 1.00] 500 ~ 5.70 61.83] #hbLls | 500 ~ 570| 1.93 10.35
12 100kN/mM##BZ 5 -l -~ - -|3m%Ei#B2 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 477 59.50| #hrlst |0.00 ~ 0.00| 1.71 9.17 Thst 1.00] 500 ~ 5.00 59.50| #hbLlst | 5.00 ~ 5.00| 1.71 9.17
100kN/mM##BZ 5 ~ ImEHBRD ~ 100kN/m#%#8 % % ~ 3mEHBZD ~
zh st ~ Zh st ~ zh st ~ zhLst ~
100kN/ Mm% 25 ~ ImEHBRD ~ 100kN/ Mm% % % ~ 3mEHBZD ~
zh st ~ zh st ~ zh st ~ ZFhLst ~
100kN/mM##BZ 5 ~ ImEHBRD ~ 100kN/m#%#8% % ~ 3ImEHBZD ~
zh st ~ zhst ~ zh st ~ ZFhst ~
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